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11.4: Arc Length and Radian Measure Homework Date: Period:

Find the length of AB.
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Find the indicated measure.
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16. A spool of thread contains 150 revolutions of
thread. The diameter of the spool is 3 centimeters.

17. Find the distance around the track on the
inside lane and on the outside lane.

Find the length of the thread to the nearest centimeter.
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18. Find the distance traveled in one back and forth
swing by the weight of a 16 inch pendulum that
swings through a 70° angle.
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19. Two belt-driven gears for a turntable are
shown. What is the total length of the belt?
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20. Robbie mentions to Krissy that he always gets confused which ratio he should use when converting degrees to
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21. Convert the degree measure into radians. Leave answers as exact values in reduced form.
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23. You are told that 15° is % radians. How could you use that to determine the radian value for 45°?
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24, Avalue of e radians was the answer to a question on Selina’s homework assignment. She looked at it and

said “Wow, that angle is even bigger than 360°.” How could Selina identify that so quickly without calculating
the actual value?
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25. Find the length of the arc associated with the given central angle and radius. C=6Y
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26. What is the measure of the central angle (measured in radians) of a circle whose arc is 37 inches and whose
radius is 4 in.? §=067
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Answer Key
1. about35.94in.V 16. 1414 cm v/
2. about34.94cm/ 17. about 71.42 m; about 96.55 m \/
3. about36.02m v/ 18. about 39.10in.v
4, 259° v 19. about 26.85in.,/
5. 129.5°V v 20. 1—:5 is the correct ratio. The units you
6. about 112.56 m want in your final answer should be in
7. ;ggu; 5328 m v the numerator.
8. .5° T 3 51
9. about 100.17 m Vv 21. a) 6 b) 2 c) 3 \.,//’
11. about 6.16 in. / 23. Since 15°- 3 = 45°, o 9=7 radians \/
12. about 36.25 ft 7 24. 1%” = 2.75m, anything bigger than 27 is
13. about 36.85 cm . B
14. about 87.96 in. / bigger than 360 ‘/

. about 28.57 in. v
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